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Question 1: (8 Marks) - Start A New Page Marks
Year 11 .
a) If m = -2 find the value of m* —3m 1
Common Test-1
2011 b) Subtract 4x%y — x% +y® from 2x* — x*y — y* 1
¢) Whatisthe reciprdcal of 2.6 expressed as a simplified fraction? 1
’15.7)(13.6 )
d) Calculate |———_— correcttol decimal place. 1
15.7-13.6
e) Express 0.27 as a simplified fraction. : : 2
5x2

4 o f) Giventhatx = 3.2x10%and y =2.9X 167 evaluate ——. 2
Mathematics >

Give your answer in scientific notation correct to 2 significant figures.

Question 2: (8 Marks) - Start A New Page Marks

a) Expand and simplify (y — 4y + = (y+4Hy—3) 2
Instructions
1. Working time - 70 minutes : b)  Simplify
2.  All questions should be attempted. 3 5
3. Show all working. ) 6x7y 9%y~ 2
4, Start each question on a new page. 10t 25t
5. Marks will be deducted for careless work or poorly presented solutions.
6. On the cover sheet of the answer booklet clearly show: _ 5xZ410x :

W =2 ?

a) your name
b) your mathematics class and teacher

¢) Expand and simplify (2v3 + \/E)Z 2
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Question 3: (8 Marks) - Start A New Page Marks Question 5: (8 Marks) — Start A New Page Marks
a) At a sale all prices were reduced by 15%. What was the original price of a ’ Solve the following equations
coat that sold for $106.25. 1
a) 4x+9=13-—2x 2
b)  Simplify V90 — 2v/80 — 24/40 + V500 2
1~2 +1 .
py ZpIZEoI 2
2 3 6
¢) Find the value of x if vx = V50 — V18 2
¢) x*=5x 2
d) Express as a simplified fraction with rational denominator
N 6 d) x?+20x—44=0 2
Ol 1
(i 2 + o 2
) V7-2  T7+2 Question 6: (8 Marks) - Start A New Page Marks
Factorise:
a) 5k*—80 2
Question 4: (8 Marks) - Start A New Page Marks
a) Factorise b) a?-7a-—18 2
(0 md+64 1
¢ 6x%+11x—10 2
(i) x6—x3 2
d) y*+3y*+6y+18 2
b) Write as a single simplified fraction
o 2x-1  x-3 ‘
0 3T 2
e 2 1
W) S + ) 3
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Question 7: (8 Marks) - Start A New Page Marks
a) Solve by “completing the square” 3

x2+6x—2=0

Leave your answer in surd form.

b) Solve the simultaneous equations 3
3x+y=>5
2x -4y =1
¢) Simplify 2
4 —2x
x2—4
Question 8: (8 Marks) - Start A New Page Marks
a) Factorise x* + 6x +9 —y* 2
VI0+4 _
b) N5 = aV5+bV2 find a and b 3

¢) The length of a rectangle is 3 cm less than twice its width. The perimeter is
100 cm. Write an equation and solve it to find the dimensions of the
rectangle. 3

End of Paper
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